
--------------------------~ 

-~ : 185 IIJ~::k!J 102 !J~Jlrift±rruB~~~ 
~?ff*.§.JJU : -~I~~~tE~W~I 
~~~f4 § : m~W~ftU~mfa C WtJI) ;jjaA; 8 WI : 0223 • WO:X : 3 

(10%) 

(b). 'W11~~Ar(t)=(2t+6)forf~O : ~l~AA.~-l.).\e(f)=r(f)-y(f) o ;Jt~AA.~l.i~~,l. • l!plime(t) (10%) 
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(a) . ..>jt~ ~ AA.~ transfer function o (6%) 

(b). ~~~~* ).\:jk~ ~ M ~;Fi;k~ controllable canonical form o (7%) 
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4. (a) What is the principle difference between a synchronous machine and an induction machine? 

(5%) 

(b) What components compose the excitation current of a transformer? How are they modeled in 

the transformer's equivalent circuit? (10%) 

5. Please compute VR1, VR3, and iR3 shown in the following circuit. (15%) 

VR1 R2 VR3 R4 
~----4--J Y--+--------~ 

20 40 

4A t 4A 

6. The following circuit shows that a non-ideal power source provides power to load RL. Please 

prove the Theorem: When load RL equals toRs the Vs will provide the maximum power to load RL. 
(10%) 

7. A voltage Vc shown in the following figure applies to an 8nF capacitor. Please determine the 

current flowing through capacitor ic. (1 0%) 
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